ddecon wheel

Assembly instructions for Ottobock Dino 3
MED3022

1. Remove wheels, brakes and brake handl on both sides.

2. Check the correct placement for the stop pin.

2024-03-20 1(5)



ddecon wheel

3. Assembly the plate (right side) according to picture.
Parts pair mountingset:

Item No. Part Number Qty Description

1 HW084 1 Sleeve

2 XSM18M 1 Nut M18x1

3 405241 1 Nordlock Washer M18
4 MED2000 1 Bracket

5 100 400 008 1 Spacer

6 XSM8X25 1 Screw M8x25

7 XSM8BR 1 Plain Washer

8 XSM8ML 1 Locknut M8

4. Assemble the back placed battery bag.

2024-03-20

2(5)




ddecon wheel
/I\F/II“ED1347 Q

/’ﬁ\\
1 )
\/\
(\_ 2 ) \ \\___3_»’)
\H{\ - TS \r\
f/’A\ \ \\ C / :‘\\\
KE/L\é/B // \7““(/’;\}
1 XOFE-48180-A0 1 =)
2 XSM6BR 4 [ & )
3 MC6SM6X65 1 —
4 MCBSM6X40 2 g
5 XSM6ML 1 <
6 XOF-48160-00 1 I

2024-03-20 3(5)




decon Wheel

Assembly of the Attendant Control

Item No. Part Number Qty Description

1 MED1317 1 Bracket

2 XClamp2 2 Clamp

3 XSM6BR 1 Washer Plain M6

4 XSM6BRTG 1 Tag Washer M6

5 XSM6X16 3 Screw Round M6 x 16

6 XSM6ML 2 Nut Self-Locking M6

7 100 400 025 2 Spacer 12x6x3,6

2024-03-20 4(5)




ddecon wheel

11111




